

Head: 1,000

01/14/2025 RIMBEY REG TUES SALE

Buyer Price Head Lot Pen Description Avg WT Total WT Shrink Hauled Feed Health Owner INFORCE 3, ONESHOT BVD & 40LBS SILAGE, **4LBS ROLLED** VISION 8 W/SOM 1A & 14 MXD **BARLEY &** JULY 7, **BLINDMAN BEEF** 692 9690 3% 15KM 14 **HEIFER** MINERAL. **BOVISHIELD GOLD** & BISON 1B WEANED NOV 13 **ONESHOT & VISION** /248 W/SOM & SPUR **OCT 10** INFORCE 3. ONESHOT BVD & 40LBS SILAGE, **4LBS ROLLED** VISION 8 W/SOM 2A & **30 MXD BARLEY &** JULY 7, **BLINDMAN BEEF** 628 18842 3% 15KM 30 **HEIFER** 2BMINERAL. **BOVISHIELD GOLD** & BISON WEANED NOV 13 **ONESHOT & VISION** /248 W/SOM & SPUR **OCT 10** INFORCE 3. ONESHOT BVD & 40LBS SILAGE, VISION 8 W/SOM **4LBS ROLLED** 9 BLK **BARLEY &** JULY 7. **BLINDMAN BEEF** 9 3A 596 5364 3% 15KM **HEIFER** MINERAL. **BOVISHIELD GOLD** & BISON WEANED NOV 13 **ONESHOT & VISION** /24 8 W/SOM & SPUR **OCT 10** INFORCE 3. 40LBS SILAGE, ONESHOT BVD & **4LBS ROLLED** VISION 8 W/SOM 4 MXD **BARLEY &** JULY 7. **BLINDMAN BEEF** 3B 542 3% 15KM 2168 4 **HEIFER** MINERAL. **BOVISHIELD GOLD** & BISON WEANED NOV 13 **ONESHOT & VISION** /24 8 W/SOM & SPUR **OCT 10** 7 1/2 LBS BARLEY /CEREAL SILAGE TOLTRAZURIL AND AND MINERAL BANDED @ BIRTH,

5	4A	11 TAN STEER	761	8376	3%	30KM	PACKAGE. WEANED NOV25 /24 FED FOR 30 DAYS WITH MOMS	RALGRO NOV 25, VISTA ONCE SQ & VISION 8 W SOMM IN SPRIONG & FALL	F M LIVESTOCK CO. LTD.	11
6	4B	11 TAN STEER	738	8119	3%	30KM	7 1/2 LBS BARLEY /CEREAL SILAGE AND MINERAL PACKAGE. WEANED NOV25 /24 FED FOR 30 DAYS WITH MOMS	TOLTRAZURIL AND BANDED @ BIRTH, RALGRO NOV 25, VISTA ONCE SQ & VISION 8 W SOMM IN SPRIONG & FALL	F M LIVESTOCK CO. LTD.	11
7	5A	7 TMX STEER	664	4651	3%	30KM	7 1/2 LBS BARLEY /CEREAL SILAGE AND MINERAL PACKAGE. WEANED NOV25 /24 FED FOR 30 DAYS WITH MOMS	TOLTRAZURIL AND BANDED @ BIRTH, RALGRO NOV 25, VISTA ONCE SQ & VISION 8 W SOMM IN SPRIONG & FALL	F M LIVESTOCK CO. LTD.	7
8	5B	5 TMX HEIFER	728	3642	3%	30KM	7 1/2 LBS BARLEY /CEREAL SILAGE AND MINERAL PACKAGE. WEANED NOV25 /24 FED FOR 30 DAYS WITH MOMS	TOLTRAZURIL AND BANDED @ BIRTH, RALGRO NOV 25, VISTA ONCE SQ & VISION 8 W SOMM IN SPRIONG & FALL	F M LIVESTOCK CO. LTD.	5
9	6A&6B	17 TMX HEIFER	688	11703	3%	30KM	7 1/2 LBS BARLEY /CEREAL SILAGE AND MINERAL PACKAGE. WEANED NOV25 /24 FED FOR 30 DAYS WITH MOMS	TOLTRAZURIL AND BANDED @ BIRTH, RALGRO NOV 25, VISTA ONCE SQ & VISION 8 W SOMM IN SPRIONG & FALL	F M LIVESTOCK CO. LTD.	17
							GRAIN SILAGE, 2ND CUT HAY AND 4LB	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX,	JOHN, ROBIN &	

10	607	21 MXD STEER	834	17504	3%	20KM	ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	COLE GRUTTERINK	21
11	608	53 MXD STEER	747	39566	3%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	53
12	609	36 MXD STEER	677	24376	3%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	36
13	610	24 MXD STEER	631	15151	3%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	24
							GRAIN SILAGE,	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD		

14	714	11 MXD STEER	548	6033	3%	20KM	2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	11
15	715	5 RMX STEER	774	3870	3%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	5
16	716	6 MXD STEER	711	4263	3%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	6
17	716A RING	5 MXD STEER	0	0	0%	20KM	GRAIN SILAGE, 2ND CUT HAY AND 4LB ROLLED BARLEY FOR 75 DAYS, WEANED NOV 1	ULTRABACK 7, BOVISHIELD GOLD @ BRANDING IN APRIL. BOVISHEILD GOLD, TRASVAX, IVOVMEC & SAFEGURAD NOV 1. KNIFE CUT IN APRIL. HOME RAISED, BIXS PROGRAM &VBP+	JOHN, ROBIN & COLE GRUTTERINK	5
							CORN SILAGE, GRAIN SILAGE & HAYLAGE FOR	NASALGEN AT		

18	7A & 7B	19 MXD HEIFER	783	14875	3%	15KM	90 DAYS. WEANED OCT. ANGUS, CHAR&SIMM	BIRTH & APRIL, VISION 8 IN APRIL	WALT MILLAR	19
19	A2 & A3	27 MXD HEIFER	713	19254	3%	15KM	CORN SILAGE, GRAIN SILAGE & HAYLAGE FOR 90 DAYS. WEANED OCT. ANGUS, CHAR&SIMM	NASALGEN AT BIRTH & APRIL, VISION 8 IN APRIL	WALT MILLAR	27
20	A4 & A5	15 MXD HEIFER	611	9162	3%	15KM	CORN SILAGE, GRAIN SILAGE & HAYLAGE FOR 90 DAYS. WEANED OCT. ANGUS, CHAR&SIMM	NASALGEN AT BIRTH & APRIL, VISION 8 IN APRIL	WALT MILLAR	15
21	A6	4 RED HEIFER	729	2915	3%	15KM	CORN SILAGE, GRAIN SILAGE & HAYLAGE FOR 90 DAYS. WEANED OCT. ANGUS, CHAR&SIMM	NASALGEN AT BIRTH & APRIL, VISION 8 IN APRIL	WALT MILLAR	4
22	A7 RING	1 GWF HEIFER	0	0	0%	15KM	CORN SILAGE, GRAIN SILAGE & HAYLAGE FOR 90 DAYS. WEANED OCT. ANGUS, CHAR&SIMM	NASALGEN AT BIRTH & APRIL, VISION 8 IN APRIL	WALT MILLAR	1
23	C4	7 MXD STEER	788	5519	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	7

24	C5	9 MXD STEER	720	6484	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	9
25	C6 & C7	15 MXD STEER	664	9967	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	15
26	408	7 RMX STEER	586	4103	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	7
27	410	5 RED STEER	561	2803	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	5
28	412 RING	2 MXD STEER	0	0	0%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL	BRENDON & MELANIE ANDERSON	2

							DEC 1. ANGUS /SIMM CROSS	BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES		
29	B2	12 MXD HEIFER	608	7299	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	12
30	В3	5 MXD HEIFER	540	2701	3%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	5
31	B4 RING	2 RED HEIFER	0	0	0%	10KM	1ST CUT SILAGE, BARLEY SILAGE- 20LBS OF DRY MATTER, 4LBS OF ROLLED BARLEY FOR 40 DAYS. WEANED DEC 1. ANGUS /SIMM CROSS	VISTA ONCE, VISION 8 W/SOMM SPRING AND FALL BOOSTER DEC 1. BANDED AT BIRTH. VBP+ CALVES	BRENDON & MELANIE ANDERSON	2
32	B5	4 BLK STEER	753	3012	3%	40KM	HAY, WEANED DEC 1	8 WAY, BANDED AT BIRTH	LEONARD JEFFCOTT	4
33	B6	7 BLK STEER	678	4743	3%	40KM	HAY, WEANED DEC 1	8 WAY, BANDED AT BIRTH	LEONARD JEFFCOTT	7
34	В7	9 BLK HEIFER	676	6087	3%	40KM	HAY, WEANED DEC 1	8 WAY, BANDED AT BIRTH	LEONARD JEFFCOTT	9
35	404	5 BLK HEIFER	564	2818	3%	40KM	HAY, WEANED DEC 1	8 WAY, BANDED AT BIRTH	LEONARD JEFFCOTT	5
36	406	5 BLK MIXED	0	0	0%	40KM	HAY, WEANED	8 WAY, BANDED AT	LEONARD	5

	RING	CATTLE					DEC 1	BIRTH	JEFFCOTT	
37	416	6 MXD STEER	849	5092	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8 & BOVISHIELD GOLD OCT 17TH. BANDED AT BIRTH	PATRICK FEHR	
38	418	14 MXD STEER	742	10389	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8 & BOVISHIELD GOLD OCT 17TH. BANDED AT BIRTH	PATRICK FEHR	
39	420	4 MXD STEER	660	2638	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8 & BOVISHIELD GOLD OCT 17TH. BANDED AT BIRTH	PATRICK FEHR	
40	420A	7 RMX HEIFER	730	5107	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8 & BOVISHIELD GOLD OCT 17TH. BANDED AT BIRTH	PATRICK FEHR	
41	422	6 MXD HEIFER	668	4006	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8 & BOVISHIELD GOLD OCT 17TH. BANDED AT BIRTH	PATRICK FEHR	

42	208	10 RMX STEER	771	7712	3%	10KM	WEANED NOV 20, 2ND CUT HAY & BARLEY SILAGE FOR 80 DAYS	BOVISHIELD GOLD, 7 WAY W/SOMM JUNE 20 & NOV 11. KNIFE CUT JUNE 20. LIMO/SIMM/ANGUS	ROLAND GRUTTERINK	10
43	209 & 210	41 MXD STEER	728	29857	3%	10KM	WEANED NOV 20, 2ND CUT HAY & BARLEY SILAGE FOR 80 DAYS	BOVISHIELD GOLD, 7 WAY W/SOMM JUNE 20 & NOV 11. KNIFE CUT JUNE 20. LIMO/SIMM/ANGUS	ROLAND GRUTTERINK	41
44	211	28 MXD STEER	662	18532	3%	10KM	WEANED NOV 20, 2ND CUT HAY & BARLEY SILAGE FOR 80 DAYS	BOVISHIELD GOLD, 7 WAY W/SOMM JUNE 20 & NOV 11. KNIFE CUT JUNE 20. LIMO/SIMM/ANGUS	ROLAND GRUTTERINK	28
45	212	4 RED STEER	838	3351	3%	10KM	WEANED NOV 20, 2ND CUT HAY & BARLEY SILAGE FOR 80 DAYS	BOVISHIELD GOLD, 7 WAY W/SOMM JUNE 20 & NOV 11. KNIFE CUT JUNE 20. LIMO/SIMM/ANGUS	ROLAND GRUTTERINK	4
46	213	17 MXD STEER	575	9773	3%	10KM	WEANED NOV 20, 2ND CUT HAY & BARLEY SILAGE FOR 80 DAYS	BOVISHIELD GOLD, 7 WAY W/SOMM JUNE 20 & NOV 11. KNIFE CUT JUNE 20. LIMO/SIMM/ANGUS	ROLAND GRUTTERINK	17
47	311	6 RED STEER	827	4962	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8, BOVISHIELD GOLD & B IOMECTIN OCT 17TH. BANDED AT BIRTH	CONNIE FEHR	6
48	424	4 MXD STEER	754	3017	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8, BOVISHIELD GOLD & B IOMECTIN OCT 17TH. BANDED AT BIRTH	CONNIE FEHR	4

49	311A	6 MXD STEER	670	4021	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8, BOVISHIELD GOLD & B IOMECTIN OCT 17TH. BANDED AT BIRTH	CONNIE FEHR	6
50	311B RING	2 MXD MIXED CATTLE	0	0	0%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8, BOVISHIELD GOLD & B IOMECTIN OCT 17TH. BANDED AT BIRTH	CONNIE FEHR	2
51	424A	3 MXD HEIFER	671	2013	3%	30KM	SECOND CUT SILAGE BALES, COVER CROP SILAGE BALES, 1ST CUT HAY FOR 70 DAYS, WEANED NOV 3. ANGUS	VIRA SHIELD 6 & VISION 8 MAY 25TH, VISION 8, BOVISHIELD GOLD & B IOMECTIN OCT 17TH. BANDED AT BIRTH	CONNIE FEHR	3
52	302	5 TMX STEER	725	3623	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	5
53	302A	6 RMX STEER	750	4501	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	6

54	304	6 RMX STEER	686	4118	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	6
55	304A	5 TAN HEIFER	678	3390	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	5
56	306	9 RMX HEIFER	671	6038	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	9
57	308	7 RMX HEIFER	610	4273	3%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS /SHORTHORN /CHAR X	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 & IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH	SHANE DAMIANI	7
58	308A RING	1 TAN STEER	0	0	0%	20KM	HAY FREE CHOICE & 20% PROTEIN LICK FOR 62 DAYS, WEANED NOV 12. HEREFORD /ANGUS	VISION 8 W/ SOM, VISTA ONCE SQ JUNE 10, OCT 26 &	SHANE DAMIANI	1

							/SHORTHORN /CHAR X	IVERMECTIN NOV 26, AGE VERIFIED, BANDED AT BIRTH		
59	310 & 312	13 MXD STEER	939	12207	3%	25KM	HAY & CEREAL SILAGE, 4LBS MILL RUN PELLETS TMR FOR 49 DAYS, WEANED NOV 25. ANGUS X	PYRAMID FP5 & PRESPONSE SQ, VISON 8 W/ SOM & SPUR SPRING AND FALL IVOMEC DEC 28, BANDED AT BIRTH	LARRY & KEN VETSCH	13
60	301 & 303	17 MXD STEER	842	14312	3%	25KM	HAY & CEREAL SILAGE, 4LBS MILL RUN PELLETS TMR FOR 49 DAYS, WEANED NOV 25. ANGUS X	PYRAMID FP5 & PRESPONSE SQ, VISON 8 W/ SOM & SPUR SPRING AND FALL IVOMEC DEC 28, BANDED AT BIRTH	LARRY & KEN VETSCH	17
61	305	4 BLK HEIFER	633	2532	3%	15KM	OFF COWS	7 WAY W/ SOMM & IVOMEC MIDDLE DEC 2024	MVT WELDING	4
62	307	4 MXD STEER	692	2769	3%	30KM	WEANED OCT 28 /24, 5LBS BARLEY & FREE CHOICE HAY	EXPRESS 5 & COVEXIN APRIL 24, COVEXIN & IVOMEC OCT 28, BANDED AT BIRTH, AGE VERIFIED, SIMMENTAL X	MONTY, GENA & JASON HOLLINGSWORTH	4
63	309	3 MXD STEER	621	1862	3%	30KM	WEANED OCT 28 /24, 5LBS BARLEY & FREE CHOICE HAY	EXPRESS 5 & COVEXIN APRIL 24, COVEXIN & IVOMEC OCT 28, BANDED AT BIRTH, AGE VERIFIED, SIMMENTAL X	MONTY, GENA & JASON HOLLINGSWORTH	3
64	307A	4 MXD HEIFER	675	2701	3%	30KM	WEANED OCT 28 /24, 5LBS BARLEY & FREE CHOICE HAY	EXPRESS 5 & COVEXIN APRIL 24, COVEXIN & IVOMEC OCT 28, BANDED AT BIRTH, AGE VERIFIED, SIMMENTAL X	MONTY, GENA & JASON HOLLINGSWORTH	4

65	309A	6 MXD HEIFER	658	3948	3%	30KM	WEANED OCT 28 /24, 5LBS BARLEY & FREE CHOICE HAY	EXPRESS 5 & COVEXIN APRIL 24, COVEXIN & IVOMEC OCT 28, BANDED AT BIRTH, AGE VERIFIED, SIMMENTAL X	MONTY, GENA & JASON HOLLINGSWORTH	6
66	309B RING	1 RBF HEIFER	0	0	0%	30KM	WEANED OCT 28 /24, 5LBS BARLEY & FREE CHOICE HAY	EXPRESS 5 & COVEXIN APRIL 24, COVEXIN & IVOMEC OCT 28, BANDED AT BIRTH, AGE VERIFIED, SIMMENTAL X	MONTY, GENA & JASON HOLLINGSWORTH	1
67	502	4 MXD STEER	560	2241	3%	35KM	HAY & BARLEY FOR 60 DAYS, WEANED OCT 5. HEREFORD X	BANDED AT BIRTH	JAMES BAUER	4
68	502A	4 MXD HEIFER	505	2018	3%	35KM	HAY & BARLEY FOR 60 DAYS, WEANED OCT 5. HEREFORD X	BANDED AT BIRTH	JAMES BAUER	4
69	503	3 MXD HEIFER	396	1188	3%	35KM	HAY & BARLEY FOR 60 DAYS, WEANED OCT 5. HEREFORD X	BANDED AT BIRTH	JAMES BAUER	3
70	503A RING	1 TBF STEER	0	0	0%	35KM	HAY & BARLEY FOR 60 DAYS, WEANED OCT 5. HEREFORD X	BANDED AT BIRTH	JAMES BAUER	1
71	401	8 TMX STEER	797	6378	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	8
72	403	14 MXD STEER	782	10942	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN	HARRY J. RODGERS	14

							DEC 2. AGE VERIFIED	IN OCT, IVOMEC OCT 23, BANDED AT BIRTH		
73	405	5 MXD STEER	743	3715	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	5
74	401A	8 RMX STEER	662	5296	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	8
75	407	10 MXD HEIFER	742	7420	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	10
76	514	8 MXD HEIFER	617	4932	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	8
77	513	3 TAN HEIFER	739	2216	3%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	3
78	513A RING	4 MXD MIXED CATTLE	0	0	0%	65KM	FREE CHOICE HAY & 5LBS OAT CHOP, WEANED DEC 2. AGE VERIFIED	VISION 8 W/ SOM W/ SPUR IN THE SPRING AND AGAIN IN OCT, IVOMEC OCT 23, BANDED AT BIRTH	HARRY J. RODGERS	4
79	515	5 MXD STEER	534	2672	3%	50KM	SILAGE	8 WAY IN THE SPRING	PINTO COW RANCH LTD.	5

80	516	4 MXD STEER	518	2071	3%	50KM	SILAGE	8 WAY IN THE SPRING	PINTO COW RANCH LTD.	4
81	517	5 MXD STEER	474	2372	3%	50KM	SILAGE	8 WAY IN THE SPRING	PINTO COW RANCH LTD.	5
82	517A RING	3 MXD STEER	0	0	0%	50KM	SILAGE	8 WAY IN THE SPRING	PINTO COW RANCH LTD.	3
83	518	3 MXD BULL	637	1911	3%	40KM	FREE FEED & RATION, 2/3LBS OATS PER DAY, OFF COWS	NO VACCINATIONS	MARVIN & LINDA HUBL	3
84	519	6 MXD BULL	535	3211	3%	40KM	FREE FEED & RATION, 2/3LBS OATS PER DAY, OFF COWS	NO VACCINATIONS	MARVIN & LINDA HUBL	6
85	518A RING	1 RED BULL	0	0	0%	40KM	FREE FEED & RATION, 2/3LBS OATS PER DAY, OFF COWS	NO VACCINATIONS	MARVIN & LINDA HUBL	1
86	505	4 MXD HEIFER	615	2459	3%	20KM	FREE CHOICE HAY, BUCKET FED 1LB OATS, WEANED OCT 7	VITAMIN A&B AT BIRTH, BIMECTIN, BOVISHEILD GOLD & VISON 8 W/SOM OCT 26, AGE VERIFIED	JEFFREY & RICHELLE EADIE	4
87	505A RING	3 MXD HEIFER	0	0	0%	20KM	FREE CHOICE HAY, BUCKET FED 1LB OATS, WEANED OCT 7	VITAMIN A&B AT BIRTH, BIMECTIN, BOVISHEILD GOLD & VISON 8 W/SOM OCT 26, AGE VERIFIED	JEFFREY & RICHELLE EADIE	3
88	601	22 MXD STEER	787	17320	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS, TRAILED MILE &	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH	22

							A HALF SORTED AND LOADED				
89	602	60 MXD STEER	750	44970	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS, TRAILED MILE & A HALF SORTED AND LOADED	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH		50
90	603	31 MXD STEER	660	20470	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS, TRAILED MILE & A HALF SORTED AND LOADED	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH		31
91	604	6 MXD STEER	576	3455	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS, TRAILED MILE & A HALF SORTED AND LOADED	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH		5
92	605	9 MXD HEIFER	714	6430	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS,	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH	9)

							TRAILED MILE & A HALF SORTED AND LOADED			
93	606	7 MXD HEIFER	651	4560	0%	240KM	OFF COWS & WHEAT & BARLEY SILAGE WITH 10% CHOPPED HAY & 10% ROLLED WHEAT ALONG SIDE COWS, TRAILED MILE & A HALF SORTED AND LOADED	FERMICON & PYRAMID AT BRANDING, KNIFE CUT	STANLEY BROS RANCH	7
94	511	13 BLK STEER	657	8546	3%				CHRIS ANDERSEN	13
95	512	14 MXD STEER	585	8187	3%				CHRIS ANDERSEN	14
96	504	9 MXD STEER	497	4477	3%				CHRIS ANDERSEN	9
97	511A	4 BLK STEER	351	1402	3%				CHRIS ANDERSEN	4
98	A7	13 MXD HEIFER	456	5927	3%				CHRIS ANDERSEN	13
99	506	5 BLK HEIFER	347	1736	3%				CHRIS ANDERSEN	5
100	A7 RING	2 BLK STEER	0	0	0%				CHRIS ANDERSEN	2
101	506A RING	3 MXD MIXED CATTLE	0	0	0%				BEN ANDERSEN	3
102	508	5 BLK BULL	792	3962	3%				AARON ROBINSON	5
103	507	5 MXD BULL	638	3191	3%				AARON ROBINSON	5
104	509	8 MXD HEIFER	649	5190	3%			_	AARON ROBINSON	8